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Q1. Encircle the correct option.

. 14x10
a. 1400
b. 104
c. 140
d. 14000
ii. If the quotient is 6 and divisor is 8. The dividend will be...
a. 48
b. 14
c. 46
d. 32
li.  How many fours make 3207
a. 18
b. 80
c. 40
d. 16
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Q2. State whether each of the statements is True or False.

I. 12 x 8 isthe same as 8 x 12.

. Multiplication is repeated subtraction.

lii.  Seven fours make twenty eight.
iv.  9+3isthesameas3x3.

V. 81+ 9is the same as 9 + 81.

Q3.  Simplify.

I. Four fives =

. Product of eight and three =

ii.  14x10=
iv.  25x30=
V. 7000+ 10=

Q4. Match Column A with Column B and write your answer in Column C. [5]

Column A ColumnB ColumnC
I. Half of 32 a. 36
ii. Double of 18 b. 9
iii. 72+8 c. 24
iv.  Quotientof 64 +8 d 16
V. Product of 3and 8 e. 8

Q5. Divide and multiply the given numbers as directed.

a. Divide them by 100
300
900
1000
7000

b. Multiply them by 10

300
900

1000

700
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Q6. Use the following set of numbers to make two multiplication and two division

equations.

2 34 68

Q7. Solve.

I. 45 il. 756 +4
X 23
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Q8. If the total cost of 8 chairs is Rs. 10,240 and that of 3 tables is 4860. What is the

price of each chair and table?

Q9. Peter has 14 horses. Each one eats 9 pounds of oats in a day. How many pounds of

oats does peter need to feed his horses for 13 days?
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